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[1 SSLSocket] [0 OO OJ OO J O SSLServerSocketFactory
factory=(SSLServerSocketFactory)SSLServerSocketFactory.getDefau
It(). SSLServerSocket server = (SSLServerSocket)
factory.createServerSocket(portNumber). SSLSocket socket =
(SSLSocket). I D OO0 ooodododooodo
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ks=KeyStore.getInstance("JKS"). 0 O Javall O OO OO JKSOI keytool
OO00OJavald DO O0O00O0OO e KeyManagerFactory
kmf=KeyManagerFactory.getinstance("SunX509"). 00 O 0O O [
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sslContext=SSLContext.getInstance("SSLv3"). 0 O SSLO O U O
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/**SSL Socket] 0O O OO O */ package org.ec107.ssl. import
java.net.*. import javax.net.ssl.*. import java.io.*. import
java.security.*. public class SSLServer { static int port=8266. //J [



Jodododo8e600000000O0ON Nstatic
SSLServerSocket server. /**[1 1 J OO */ public SSLServer() { } /*
*@param port [ 0 O OO O O *@return O O O O SSLServerSocket
(1 OO */ private static SSLServerSocket getServerSocket(int thePort) {
SSLServerSocket s=null. try { String key="SSLKey". //00 O O J O
[1 O char keyStorePass[]="12345678".toCharArray(). //00 O O [
char keyPassword[]="12345678".toCharArray(). /0 O O O O O
OO 0000 KeyStore ks=KeyStore.getInstance("JKS"). //0

0 JKSO O O ks.load(new FilelnputStream(key),keyStorePass). //
O 0O 0O O JKSO O O O X.5090 OO O 0O O KeyManagerFactory
kmf=KeyManagerFactory.getinstance("Sunx509").
kmf.init(ks,keyPassword). SSLContext
sslContext=SSLContext.getInstance("SSLv3").
sslContext.init(kmf.getKeyManagers(),null,null). //0 O O O O O
[ SSLO O 0O O O 0O SSLServerSocketFactory,[1 U 0 O 0O O O O
[J O SSLServerSocketFactory
factory=sslContext.getServerSocketFactory().
s=(SSLServerSocket)factory.createServerSocket(thePort).
}catch(Exception e) { System.out.printin(e). } return(s). } public
static void main(String args[]) { try { server=getServerSocket(port).
System.out.printin("C0 ™ port” OO O OO 0O..."). while(true) {
SSLSocket socket=(SSLSocket)server.accept(). 100Test LI 0 O I I
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